i

=13
=

The use or communication of the contents there of are forbidden without express authority. (2 AF2l AFE o

N

_

77

TOLERANCE(mm)
(KS B 041201l =&)
6 0I5t +0.05
6~ 30 +0.1
30 ~ 120 +0.15
120 ~ 315 +0.2
300 ~ 1000 | £0.3
1000 ~ 2000 | £0.5

N T
) 1
(/{//l///
S - 1
C |
_
< > Q

Note
1.

py|
(=]

Jm

k2>
,/,,W

¥ JANOEI=E 85 04

;28 & (25~50MGOe)

: Working Temperature <80°C
DS 0] 2ot0] LIZS S Al (s2X)

P OPIUIEStE/HEE A Fo
L &ole 29 =

P EEFAY BANB BS
DX HE Fo

DOtE0IAT GIE AFMOIE/XIIZ2H S AH(MRI)
DALY HIEE/XI] HHE/EII2H/SH

Erapl|

NO

REVISION RECORD

DATE

CHK. APPR.

BEWETES XE D(mm) X M T(mm) / (2AZxUHA)

0

$10 D10x8T(¢;‘5x¢4.2)
02

$12 D12x3T(86.5x94.2)
03

614 D14x4T(#6.5x04.2)
0 0

®15 D15x4‘|‘(¢;5x¢4.2) D15x5T(¢Z.5x¢4‘2)

620 - o

D20x4T(96.5x94.2)

D20x5T(¢6.5x94.2)

&
“
&

S5 A 2HD) XIE D(mm) X S T(mm) / (21 BxHZ)

0

925 025><4T(¢;‘5x¢4.2)
02 03

¢30 D30x4T(#12.5x$6.4) | D30x10T($12.5x$6.4)
04 05

@40 D40x5T(#12.5x$6.5) | DA0x10T($12.5x$6.5)

®50 " o ;i

D50x5T(#12.5x96.5)

D50x10T(¢12.5x96.5)

D50x15T(#12.5x96.5)

# BADCIZE

ST F0H

=y

M2.5 X 6

%ﬁzr

M3 X 8

%E

M4 X 10

=

M6 X 15

RPN IS 01 1 =2Y3S
10
CKRC ' D10x3T(96.5x94.2) — 2t AFOI £
!
H AOIE
WE Ao ﬁ> CKRC-910-01
FINISH MATERIAL UNIT mm NO.|  DESCRIPTION DWG. No | QTY | REMARK
=2: UAE3 Neodymi um APP. DWG. NO. - V1.0
8- - DWG.| 2019,09,05 77/ | PART NAME -
QY 1/1 ASS'Y NAME -
‘I EA/SET a H a rdwa re AB MODEL NO. % %.o:l /\|. a'. I'. M






